Nasobeni desetinnych cisel 1. 2. 2021

Nasobeni desetinnych cisel
napr. 12,3 . 0,3
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Preved’:

0,7 m2= 70 dm? > 7,1a-= 71000 dm?
2,4cm?= 240 mm?2 » 0,4ha-= 4000 m?
0,2 ha = 20 a » 0,08dm? = 800 mm?
1,7 km? = 1700000 m?2 ) e 0.05 dm?
250a= 2,50  ha > 1,85 dm? = 18500 mm?

48 cm? = 0,48 dm?
720 mm? = 7,20cm?
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0,58ha= 5800  mZ
0,09 m2=900  cm?
1,4km2= 140 ha




Preved’:
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0,7m?= 70
2,4cm?= 240

0,2 ha = 20
1,7 km2 = 1700000
250 a = 2,5
48 cm? = 0,48
720 mm2 = 7,2
0,58 ha = 5800
0,09 m? = 900
1,4 km? = 140
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/,1a=

0,4 ha =
0,08 dm? =
500 mm? =
1,85 dm? =

71000

4000
800
0,05
18500
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Nasobeni desetinnych cisel:

» 0,9.0,3=0,27 » 0,09 - 0,8 = 0,072

» 0,4.0,02 =0,008 » 0,5-0,06 =0,03

» 0,03.0,02 =0,0006 » 0,03-0,8 = 0,024

» 1,2.0,3= 0,36 » 0,15- 0,3 =0,045

» 2,2.0,4= 0,88 » 0,07 - 0,06 = 0,0042
» 1,6.0,02= 0,032 » 1,2 - 0,5 =

» 0,8-0,6= 0,48

» 1,2-0,03= 0,036

» 2,3-0,2= 0,46

>

0,07 - 0,5=0,035




Vynasobte:
» 0,5 0,7
. 1,2 . 3,8
10 56
5 21
0,60 2,66
4, 2,3
. 2, . 0,55
16 8
84
10,08
1,5 0,18

Nasobeni desetinnych cCisel 1. 2. 2021

1,032




» 0,5 0,7 2,9 Nasobeni desetinnych cCisel 1. 2. 2021

. 1,2 . 3,8 . 1,5 > 5.6 51 0.13
10 56 145 2.4 . 41 1.7
5 21 29 — — 2t
0,60 2,66 4,35 224 51
112 204
13,44 20,91
4) 2,3 6,7
.24 _. 0,55 0,11 3,4 1,032
168 115 67 . 4,2 . 5,3
84 115 67 68 3096
10,08 1,265 0,737 136 5160
14,28 5,4696
175 0)18 8,2
. 3,1 . 4.4 . 7,5 0,44
15 72 410 . 7,3
45 72 574 132
4,65 0,792 61,50 308 5615

3,212 583,96
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Interaktivni cviceni
46,




